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(10 points) Use the Sandwich Theorem (and possibly other limit laws) to show that
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b) (5 points)
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3) 2) (5 points) Write down the formal €, § definition of what it means for : Ny A8
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b) (5 points) Find an interval (a,b) containing 1 such that if x is in (a,b) then 3x> +2 is in the interval
(4.5,5.5). No need to simplify whatever expression you get, since you have no calculator.
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4)‘)(3Wm)l“indﬂ:elvengennofchmgeofﬂ\emncﬁonf(x) /% between x = 1 and x = 3. No need

to simplify your answer.
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b) (2 points) Write down the limit you would have to compute to determine the rate of change of f (x)= /%
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c) (5 points) Compute, with justification, the limit in part (b). Hint: try multiplying top and bottom by the
conjugate. ‘ ‘
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ft)tll(:wl:d“:, Mb)ﬁ Find the equations of the vertical, horizontal, and oblique asymptotes for each of the

t0 just ::-1 netions. Justify your answers, To justify your vertical and horizontal asymptotes, it is enough
e down what limit you would have to find to verify that there is indeed a vertical or horizontal

Asymptote where you say there is one,
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